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Write these in order of Simplify
size 5xfx2xg
074 0744 0704 | g5 .4

061, 0 7057409'9,-7»:.0,0-9:4# = 106y

u
Write 00001 in sTandard Write 28 as a product of
form prime facfors
i IO-“ 28
SN st
P 2
u 18
Simplify Make v the subject of the
4o’ + 24" -3a +4 Formua
Y v=u+at
Sk« L vs v-al
n 5
Expand & simplify Simplify
(x + 2)x + 4) .
2 (X +2Y - xce2
2t 6+ 8 Wre) =2
g
3
Work out 426 x 17
without a caleulafor
426
13
29 z 2
4260

3242

5 6
Solve 6x - 5 = 16 Caleulate
61 1, 46x10° + 32x10°
=23 460
€ 2| 3200 346x(0
= éé. 36 60
1u 13
fisa whole number-. Calcula“’e
Write down the la.rges*r 19876 - 6789
value of 7 that satisfies )1a8%e
F+1<t+12 6189 13,081
2L ¢ 73087 ¥
LSS
19 20
Emma walks for 6 | Write 0.016 as a fraction
hours and covers 15 o e 8 oo koo 2
miles. ZSmpll oo 80 250 lZS
What is her average
?
sheed = 2 é -
Caleulate: The raTlo of red counters
3 Yo blue counters is 5:9
- + - 25 What frraction of the
Z 4 73 counfers are red?3-
&2 e
28 28

A LTTLE BIT OF MATHS EVERY DAY ...

FRIDAY SATURDAY SUNDAY
1 2
T am thinking of 4 numbers that are different facfors of 60
T add these humbers fogether and get a number that is greater
o O than 20 bt less than 35.
) hat were the 4 numbers I was thinking of?
S+ Lt 24 3 biuen 2000
L3, 6,85 6,10,12 1S, 207, 36, 68
7 8 9
Factorise A machine makes 36 frophies every hour.
The machine makes frophies for 8 houts each day. on 5 days of the
34 2 %x8x S week = WO O weok
3xy -18y The trophies are packed info boxes that each holds 8 frophies.
2 x582 - 6) How many boxes are needed for all the trophies made each week?
V) 4o * ¥ < 180 boxes
4 16
5 6
Expand and simplify Caleulate x 55 3 _'Fo! 3 71 [3
3(f-4)-24t-1)
3t-1n - 8L +2 2 39°
-5t-12
yat n 3
Which is the smallest | Work out the shaded
number: area.
g =1 =257,
0038 x10%0r 38010 tospe” €D =4 mx ':’1
3.8 038 sreatt @ - unnste2S
-3 stz 2§T-12-57 =100
380~10 asr Ssan om" (249) 2"
8 30
Three sfudents count The\r pencils. Al has x pencils.
WOrk out Ben has 48 more pencils than Al
56x 024 Connor has four times as many pencils as Al
The tofal number of pencils Al and Connor have is more than twice the number
V344 of pencils that Ben has

Work out the least possible number of pencils that Al could have. 32
A:x B+ C:hox  3x>9%
sciux > 2(e+u8) z>% -32

S 2 2x+ Q.

REMEMBER: THE BEST WAY TO REVISE MATHS IS TO "DO MATHS"!
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